Xl e
Wind Vic

BEVER

L &R a4k oo B RER S A PR 2 7

JIANGSU FENGWEI INTELLIGENT EQUIPMENT CO., LTD



01

ipi
Wind Vic

3HB THREE PHASE (SINGLE, DOUBLE IMPELLER ) GAS RING VACUUM PUMP MODELS AND THE PERFORMANCE PARAMETERS TABLE(IP55 50/60HZ)

(B, #4) RIRATRAFERMES R (IP5550/60HZ )

B4 BiEsn Bk R B
A % @45 mE hE HEEEE meRn | AWRE | RASEH EaEs | 0| ER
(alz?odae?C) single | frequency | power voltage current | Max airflow V;%tuegm rated compress | noises =~ Weight
double HZ KW A m3/h mbar mbar dB(A) Kg
sse0s1HIB | Segs |G T Be | Stk | MooV | BoAneY | Em | 18 % & |
samssc-ies | owgw | — e s T Guroy [ iskner | o | e 5 o | 5
sHB 501437 | Sing = R T TR R B R 323 o | o
3HB350-1HA7 | Single g e e e e wor T e 0 510 o ] ™
BEHGERE | Dl o | war | seoowe | socew | wmmmer | s | am = no o8
woosaor | bawe B | 40 | mebos | sy saast | m S 30 & g
3HB 350-2H47 | Double |7 -HE T EN R NN EEE %6 i

P B BX e e

g Wi m=E hE HEEE meRn | AwRR  AoEs  EeEs | ¢ IR

(BHB SAC)  single | frequency | power voltage curent | Maxairow /%4 rated compress | noises = Weight
double HZ KW v A m3/h mbar mbar dB(A)  Kg

3HB 350-2HS7 | Double g S | Woss | @iy | AR | 56 0 # o
SHEGGO:eHeY | Dl | T e T BgaHaty | 880 | gm0 4 e 120
3HB3S0-9HI7 | Trple | oo TR e e — > 2
3HB 350-0H47 | Triple = T e e e T i - ]
3HB 350-3H57 | Tiple = B s Tusaer | Besaer T ow oo = | 1
3HB 350-0H67 | Triple 5| e | wnsmr | eorse [wmmareet | = = 6| 1
3HB350-3H77 | Trile S0 | 15 | Wosdh | ey |meim | 0 | s 089 6 | 1%
SHBSG0-1H26 | See |34 o0 9e0A | 4bosooy | T0BARY | 565 g & | o0
SHBSG0-1HO7 | Single |0 8 T acr il e T i T e ]
3HB550-1H47 | Single o5 T MmN T EEY T s 5= | o
3HB 550-1H57 | Single = — i mE A e = NS s | %
3HBSS0-2H47 | Double | oo g5 | sesws | eosey | Twamar | sw | om =5 |
3HB550-2H67 | Double | ¢ ¥ | wosns oy | B T B0 | mn 6 | 12
SHBS60-2He7 | Dowle |— G038 T uncioor | esosoy | saaanav | a0 0 5 | 1
3HB 550-GHS7 | Trple - ST N EET — o | 1
3HB 550-3H67 | Triple = e | an. | e meee | Semseny | pan — = 7o
3HB 550-GHT7 | Triple N T | wawes | huwey [weemen | we | w0 50 7 1
3HB 550-3HG7 | Trile 0 e w0l | wimy eies | B | o0 o 7l s

02



by
Wind Vic

3HB Double/Multi-Stage Selection diagram 50/60Hz

3HB ##EF =4 F 3 50/60Hz iERIE X 3AC

TEAMEHERERR 15CER, HESEN 1013mbar IR TAIHA, RE +10%, BAZFMRERERBIA 25CH,
BRI ER B REEE,

The performance curves are valid for pumping air at 15 at the inlet flanges with an air pressureof 1.013mbar and a tolerance of
+ 10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25C .

Vacuum Selection diagram 50Hz-- H & & [E 3% 50Hz

800
750
700
650
600
550
500
450
400
350
300
250
200
150

O ®
55=75 3.0 | 100

.
5.5=7.5=11.0 o
4.0 50

3HB 550:3

750

Suction Capacity ZA ¥ (m’/h) —»

_ "
11.0=15.0=18.5
@
11.0=150 4

5.5

0
T5=11.0=150

1100 1000 900 800 700 600 500 400 300 200 150 100 50 0
Total pressure difference A p/ BEZEA p < \/acuum( 5% )

03

https://www.wind-vic.com

3HB Double/Multi-Stage Selection diagram 50/60Hz
3HB #Ef1 =41 &% 50/60Hz iEARI[EF 3AC

TEHHMMREMEREMR 15CER, HFEH 1013mbar TR TRIHE, £ +10%, BRAZRMRERETBIB 25CH,
R B R E,

The performance curves are valid for pumping air at 157 at the inlet flanges with an air pressureof 1.013mbar and a tolerance of

+ 10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25C .

Compressor Celetion Diagram 50Hz-- B #4588 [E X 50Hz

800
750
700
650
600
550

500
3HB 5503

450 >
B 555 3.0 1

350 odd 15.0
300
250
200
150
100
50

3HB 350-3

= 18.5
3HB 35 4.0 55

Suction Capacity EAF(m’/h ) —

o
255, 11.0=15.0

®
11.0

0 50 100 150 200 300 400 500 600 700 800 900 1000 1100

Total pressure difference A p/ BEZA p Pressure( /% /) ) sl

04



05

Wind Vic

3HB Double/Multi-Stage Selection diagram 50/60Hz
3HB ##EF =4 F 3 50/60Hz iERIE R 3AC

Suction Capacity A ¥ (m’/h) —»

1100 1000

900

Vacuum Selection diagram 60Hz-- H Zi# & E3* 60Hz

aHB 550-2 :
86 6'3 . 50«\ 3.45
3\'\8 550“3 O
O8.6 4.6
O
12.6=17.3=21.3 HB 350-3
) 30"
O
= O
12.6=17.3 53
L
O a ' 3.45
8.6=12.6=17.3 6.3 8.6
3 4.6
O
8.6=12.6 63

800 700 600 500 400 300 200 150 100 50

Total pressure difference A p/ BREZEA p < \/acuum( % )

THEMMEE M EREMR 15CER, HRES 1013mbar TR TAIHA, fE +10%, BAZFMIBRIRE R BB 25CH,
R RLED| @ RERE

The performance curves are valid for pumping air at 15T at the inlet flanges with an air pressureof 1.013mbar and a tolerance of
+ 10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25C .

800
750
700
650
600
550
500
450
400
350
300
250
200
150
100
50

3HB Double/Multi-Stage Selection diagram 50/60Hz
3HB #Ef1 =41 %% 50/60Hz iERI[EF 3AC

RIRLERI B R E

Compressor Celetion Diagram 60Hz-- B #45: £ 2 [E X 60Hz

800
750
700
650
600
550
500
450
400
350
300
250
200
150
100
50

0 50 100 150 200 300 400 500
Total pressure difference A p/ BIEZ A p

600 700 800
Pressure( /& ) ) s

https://www.wind-vic.com

TEHHMMREMEREMR 15CER, HFEH 1013mbar TR TRIHE, f£2E +10%, BAZRMRERETBIB 25CH,

The performance curves are valid for pumping air at 157 at the inlet flanges with an air pressureof 1.013mbar and a tolerance of
+ 10%. The total pressure differences are valid up to an intake and ambient temperatrue of 25C .

Suction Capacity EA F(m’/h ) —

900 1000 1100

06



RS

Wind Vic

ZHB3 TWO STAGE MOUNTING DIMENSIONS
3HB3 #iRRER

350-1

(=}

2
-/
N

B3 Type

3HB 350-1H26

m

V2

2'M32*1.5 | 2'M32*1.5

3HB 350-1H37

2"M32*1.5 | 2'M32*1.5

3HB 350-1H47

07

2*M32*1.5 = 2'M32*1.5

ZHB3 TWO STAGE MOUNTING DIMENSIONS

3HB3 # R ER T

https://www.wind-vic.com

}
F r o’ M
/VVVE
" :
Xy z G — /- \
1 ] N
| ] O
. Nl TN
L C
E F
RsE Type (®] D E F F’ F~ G H H K L M P R V2 X Y-Z
3HB 350-2H26 199 420 450 646 600 482 225 464 173 D145 325 220 423 G2z 2*M32*1.5 228 M8*20
3HB 350-2H37 199 420 450 646 678 482 217 466 175 D145 325 220 425 G212 2*M32*1.5 D228 M8 20
3HB 350-2H47 199 420 450 646 663 482 210 466 175 D145 325 220 425 G212 2*M32*1.5 D228 M8 20
3HB 350-2H57 199 420 450 646 698 482 210 466 175 D145 325 220 425 G212 2*M32*1.5 ®228 M8*20
3HB 350-2H67 199 420 450 646 753 482 184 494 203 D145 325 220 425 G2z 2*M32*1.5 228 M8*20



09

M
Wind Vic

ZHB3 TWO STAGE MOUNTING DIMENSIONS
3HB3 &4 EER T

2 HB5 TWO STAGE MOUNTING DIMENSIONS
3HB5 i TRR T

https://www.wind-vic.com

350-3
B
A F# ()
)
M
\
r
/V1/V2
== XyZ e o
| s Y =
1IN _J; \O
K - = YO
= __l \i l
I C
D P
B F
L
#EE Type A0 A B (o] D E F F’ F~ G H H” K L P R Vi V2 X Y=-Z
3HB 350-3H37 3 481 610 199 420 450 765 791 482 217 561 175 @145 325 425 G2z 2*M32*1.5 2*M32*1.5 ©228 M8*20
3HB 350-3H47 3 481 610 199 420 450 765 782 482 210 561 175 @145 325 425 G212 2°M32*1.5 2'M32*1.5 0228 M820
3HB 350-3H57 3 481 610 199 420 450 765 B17 482 210 561 175 D145 325 425 G2 2*M32*1.5 2'M32*1.5 o228 mMa 20
3HB 350-3H67 3 481 638 199 420 450 765 872 482 184 589 203 @ ©145 | 325 425 G2z  2°M32"1.5 2'M32*15 | ©228 M8'20
3 481 638 199 420 450 765 931 482 184 589 203 @145 325 425 G2z 2*M32*1.5 2*M32*1.5 ©228 M8*20

3HB 350-3H77

A F 2
; V1 V2 :
u - ———
o
— C)H\ /
XyZ B
et
. * ] N
) = &
L il \
K N TN
el d ] ﬁ
|
L
D p
o F
L
AUSK Type e A B c D E F E G H H K L P R Vi v2 Y-z
3HB 550-1H26 3 553 545 228 420 450 634 495 364 372 184 ©14.5 262 516 G3 2*M32*1.5 2*M32*1.5 mM8a*20
3HB 550-1H37 3 553 547 228 420 450 634 574 309 374 186 145 262 518 G3 2*M32*1.5 2*M32*1.5 M8*20
3HB 550-1H47 3 553 547 228 420 450 634 558 302 374 186 @145 262 518 G3 2'M32*1.5 | 2*M32*1.5 M8*20
3HB 550-1H57 3 553 547 228 420 450 634 594 302 374 186 D145 262 518 G3 2*'M32*1.5  2*M32*1.5 M8*20

10



11

Xl 52
[ |
Wind Vic

3H35 TWO STAGE MOUNTING DIMENSIONS 3|-||35 TWO STAGE MOUNTING DIMENSIONS
3HB5 #&RRERT 3HB5 iR TRR T

https://www.wind-vic.com

550-2 550-3
B
F' A F’
P
F M M
R ,
A ]
[ | C
/V 1 / V3 /Vl/ ',
g s
G / _\ i XyZ ﬂ i -
m / J ==
RN & . 1 Y
. ’
D N K Sy = TN
| -] |
L c L e
P D P
F o F
L

HIE Type R A B (@] D E F F* F~ ‘ G ‘ H ‘ H’ ‘ K L ’ M ‘ P R Vi V2 X Y-Z AUSE Type 18{ A B C D E F F’ B G H H’ K L P R Vi V2 X Y-Z
3HB 550-2H47 3 578 600 228 420 450 764 688 593 302 517 186 @145 325 248 518 G3 2*M32*1.5 2'M32*1.5 255 M8*20 3HB 550-3H57 3 553 682 228 420 450 894 854 593 302 623 186 @145 325 518 G3 2*M32*1.5 | 2*M32*1.5 ©255 M8*20
3HB 550-2H57 3 578 600 228 420 450 764 724 593 302 517 186 @145 325 248 518 G3 2°M32*1.,5 2*M32*1.5 255 M820 3HB 550-3H67 3 553 710 228 420 450 894 968 593 276 651 214 ®14.5 325 518 G3 2'M40*1.5  2*M4071.5 0255 M820
3HB 550-2H67 3 578 628 228 420 450 764 838 593 276 545 214 145 325 248 518 G3 2*M40*1.5 2*'M40*1.5 @255 M8 20 3HB 550-3H77 3 553 710 228 420 450 894 968 583 276 651 214 ®14.5 825 518 G3 2'M40*1.5 2*M40"1.5 ©255 mMa*20
3HB 550-2H77 3 578 628 228 420 450 764 838 593 276 545 214 D145 325 248 518 G3 2'M40%1.5 2'M40*1.5 @255 M8*20 3HB 550-3H87 3 553 710 228 420 450 894 993 593 276 651 214 @145 325 518 G3 2*M40*1.5  2*M4071.5 ®255 M8*20




